POLO

1343_85566

\

,,,/

VI
\y

\

'

Vv —

»
\/

Y

\/

(V|

[ Habitat
2 et Jardin.com

1/6



1343_85566

A M8X85mm X16 PCS 1/1
B M8X30mm X4 PCS 1/1
c M8X40 mm X8 PCS 1/1
D M6X40 mm X2 PCS 1/1
E m8 X20 PCS 1/1
F Cﬁ M8 X8 PCS 1/1
G & M8 X16 PCS 1/1
H ﬂﬁ X1PC 1/1
| S X4 PCS 1/1
) M 80 mm X1PC 1/1
K J 68 mm X1PC 1/1
L >— 72mm X1 PC 1/1

2/6




™) 1660X985X90 mm X1PC 171
(2) % 1660X985X90 mm X1PC 11
(3) % 1910X960X100 mm X1PC 11
(4) A 1910X300X25 mm X2 PCS 171
(5) 1910X100X25 mm X2 PCS 171
(6) % ) 1860X680X60 mm X1 PC 111
@ ///////////// 1860X680X28 mm X1PC 11
(®) 340X220X70 mm X1PC 11
9) 340X220X70 mm X1PC 11

(10) 215X40X20 mm X1PC 171

FR : SAV/INFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTA

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTA

CT

CTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVIGO POS-VENDA/INFORMAGOESNIDEO/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: nnonmnennx?/yTna inTun/oyiwpny




0

/2%5// %,//%%i

e

4/6



)

avaVAN

A S
M~ U A

/]

s A
Y N ] i\w/,

\ § A SN

WASNS &7/

3/
%\%

anwy\)

\
\

WX
i

5/6



)

A

i)
\ m,\ :

6/6



	1
	2
	3
	4
	5
	6

